EARAZROREIERT — 2 N—XBISY —F 2019558220 (k) 4MEI%HA2H

ol S R34 Y 5R3K (xwlw | lmEmml - |5 5) wom 8
[xE£] 1 %&:270,000  2#%:63,000M™ ~ 3#%&:27,000M  43%&:19,000 5 #&:14,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1lelg| ToFv> 3 5731%%51 1:29.1 3332 |38.7| — | 2 | 397 gfi@% (5£12)
. - FiER
LT RIA VL= B:U—T4—9y K ) @) % 5 sy
5 NEPRES, it 3 ﬁ%ﬁz 1:(219).3 8-8-5-3 |37.9| — 1 417 fﬁﬁﬁi (%4R)
L:A—LIFLM4A B:72—Fr—84 A (-4) pN:Lie
3lglg| 71w hE—t 3 | R 1:(239).9 2-2-1-1 | 39.7| — | 7 | 369 giig &2
QYLKYIYRIR BiE—T1y hYa— ) |fek m—
4011 [NV TYT—F 2R % 3 | BEm ke | e @8 = | 6| o )
T RIA VL= BTE-LAFYZ 0 |5 sz
5 NEEVE: 3 é%i%féﬂz (11:310/.27) 1-1-2-3 | 40.6 | — 4 ig)a ﬁgféi (5£42)
RTwINEry b BiFIA b MhiE  EEL
6lzl 7|19+ re75— #3 | BESE 1(/:\3(;)7 6-6-45 |39.6| — | 3 | 431 fé%é? (S£4)
RN BFTINITAI (-1) IVIT5TT L
4 : FIEREE i3 | AR B2 4466 [40.2| — | 6 | 435 5—%% )
L RE—YLIA-Z B ALY O el mme
ERTIN 4 3 | DOEEEE— 1:32.4 9-9-9-9 [39.9| — 9 371 | BRHIEA (54)
8l5l5| TV Fa— 54.0 ®6) ) |TreE— :
R:AYEETN—RY B FasxOy TR
9 6| 7T1IITARTY LY 3 ;%lf%%uﬁz 1;(333).1 55-8-8 |41.8| — | 8 | 450 E%%E (3212)
L:74H0 B:IATIIANTY L (+4) [SE3-FS
® I—F—@EBIERL
|S=7r= 4,8,9,3,6,7,1,2,5
Ao=5"= 4,8,9,3,6,7,1,2,5
3T—7— 8,4,9,7,2,3,1,6,5
43—+ — 8,9,(2,4),7,3,1,6,5
[ RN
-y 9 310M | | 71 K 2-9 140 | | # &= 2-8 470 | | =R 2-8-9 4,660M
# B 9 130M 8-9 1,300 B E 2-9 380 EE 9-2-8 14,880
2 140 2-8 1,480H B H 9-2 1,000M
8 490/

ABICOVWTRDTEEERROODE. TR LIV,



